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LET A NE PR = ) W AFN5HE
Alofo]oi1|iEak H 3 |30 4 |RI13.12.31| BRI |wBmxrrs 14 1.1 a%
AlO[0]| 0! 1 [ESRE H 4 |30 45 |R13.12.31| FEFE |wmstrrres 14 .1.1 K
Alofo]oi1|iEak H 5 |30 4 |RI13.12.31| BRI |wBmxrrs 14 1.1 a%
AlO[0]| 01 [ESRE H 6 |30 4 |R13.12.31| FEFE |wsstrrres 14 .1.1 K
AlO|0|0: 1 |FESHR H 7 |30 4 |RI13.12.31| BEIE |ksmrres 14 .1.1 K
AlO|0]|0 1|EES#H H 8 | 30 4F|R13.12.31| FEFE |wmstrrrres 14 .1.1 K
AlO|0|0: 1 [iESHR H 9 |30 4 |RI13.12.31| BEIE |ksmrres 14 .1.1 K
AlO|0]|0 1|EES#H H 10 | 30 4F |R13.12.31| FEFE |wmstrrrres 14 .1.1 K
AlO|Of0: 1SR H 11|30 4E|R13.12.31| BRI |wiskesres 14 1.1 “t
AlO|0]|0 1|EES#H H 12 | 30 4F |R13.12.31| FEFE |wmstrrres 14 .1.1 K
AlO| 0|0 1 |iESHR H 13|30 4 |R13.12.31| BEIE |#smrres 14 .1.1 K
AlO|0]|0: 1[iES% H 14 | 30 4£ |R14 .12.31| FEHE |wisiesres 15 .1.1 K
AlO|O0f0 1SR H 15| 30 4£ |R15.12.31| FEFE |wssterres 16 .1.1 e
AlO|0]|0: 1 [iESH H 16 | 30 4£ |R16.12.31| FEHE |kisierres 17 .1.1 K
AlO[0]0:1ESK H 17 |30 45 |R17.12.31| FEIE |wstrsrrs 18 .1.1 HE
AlO|0]|0: 1 [iESH H 18 | 30 4£[R18.12.31| FEHE |wisierrrs 19 .1.1 K
AlO|Of0: 1SR H 19 | 30 45 |R19.12.31| FEFE |wsstrrrrs 20 .1.1 e
AlO|Of0 1|58 H 20 | 30 4F|R20.12.31| FEZE |wmstrrrrs 21 .1.1 i
Al0f0]0i1[ESE H 211|304 |[R21.12.31| BEIE |#Bmrres 22 1.1 LS
AlO|Of0 11558 H 22| 30 4F |R22.12.31| FEZE |wmstrrrrs 23 .1.1 i
Al0f0]0:1[ESE H 231|304 |[R23.12.31| BEIE |#smerres 24 1.1 LS
AlO|Of0 11558 H 26 | 30 47 |R26 .12.31| BE3E |wmstrrres| 26 1.4 | 27 .1.1 ik
Al0f0]0}1[ESE H 27 | 30 4% [R27 .12.31| BEZE [wwstreres| 27 1.4 28 .1.1 HE
AlO|0f0 2|mECER S 55|30 4 |R13.12.31| FEZE |MiFrEE 14 .1.1 K
Al0|0]|0: 2| CEHK S 60| 30 4 |R13.12.31| BEHE [ FrEE 14 .1.1 K




i tesiee | i | e | ook | ih | | e
AlO| 0|0 2|8 CERK S 61|30 4 |R13.12.31| FEFE [T cE 14 .1.1 K
AlO|0]|0: 2 EECER S 62|30 4 |R13.12.31| FEFE |HFcE 14 .1.1 HE
AlO| O[O0 2|8 CER S 63|30 4 |R13.12.31| FEFE [T rEE 14 .1.1 K
AlO0|0]|0: 2 CER H 1 |30 4 |R13.12.31| FEHE [T s 14 .1.1 HE
AlO|0f0 2|8 &R H 2 |30 4 |R13.12.31| FEFE |[HiFc& 14 .1.1 K
Al0|0]|0: 2 EECER H 3 |30 4 [R13.12.31| FEHE [T s 14 .1.1 HE
AlO| 0|0 2|8 CER H 4 |30 4 |R13.12.31| FEFE | Fr& 14 .1.1 K
Al0|0]|0: 2| CER H 5 | 304 |R13.12.31| BEFE |MiFrEE 14 .1.1 HE
AlO|0]|0: 2 |FECER H 6 |30 4 |R13.12.31| FEZE |MiFcE 14 .1.1 K
Al0|0]|0: 2| CERR H 7 | 304 |R13.12.31| BEFE |MiFrEE 14 .1.1 HE
AlO|0]|0: 2| CER H 8 |30 4 |R13.12.31| FEZE | FcE 14 .1.1 K
Al0|0]|0: 2| CER H 9 | 304 (|R13.12.31| BFEFE |MiF & 14 .1.1 HE
AlO|0]|0: 2 |FECER H 10 | 30 4£ [R13.12.31| FEFE | FcE 14 .1.1 K
Al0[0]0:2|ESCER H 11304 |R13.12.31| BRI |MiFcEE 14 .1.1 i
AlO|0]|0: 2 |FECER H 12|30 4£|R13.12.31| FE#E | Fcd 14 .1.1 K
Al0|0]|0: 2| CEH H 13|30 4F [R13.12.31| FEZFE |MiFrEE 14 .1.1 K
AlO|0]|0: 2 |FECER H 14 | 30 4£|R14 .12.31| FEFE | F o 15 .1.1 K
AlO| 0[O0 2| CER H 15| 30 4£ |R15.12.31| FEFE [ FcE 16 .1.1 iin
AlO|0]|0: 2 |FECER H 16 | 30 4£ |R16 .12.31| FE#E |HiFcE 17 .1.1 K
AlO| 0|0 2| cERK H 17 | 30 4£ |R17 .12.31| FEFE [ FcE 18 .1.1 iin
AlO|0f0 2|mECER H 18 | 30 4£|R18.12.31| FEZE |MiFrE 19 .1.1 K
Al0[0]0: 2| ESCER H 19|30 4 |R19.12.31| FEIE |MFCEE 20 .1.1 i
Al0[0] 0 2|FECER H 20 | 30 4F|R20.12.31| FEFE |wmstrrres 21 .1.1 i
Al0[0]0: 2| ESCER H 211|304 [R21.12.31| FEIE |wstrrres 22 1.1 LS
Al0[0]0: 2 |FECER H 22 | 30 4F |R22.12.31| FEZE |wmstrrres 23 .1.1 K
Al0|0]|0: 2| CERH H 23|30 4 |[R23.12.31| BEIE |#smerres 24 .1.1 HE
AlO|0f0 2|mECER H 26 | 30 4 [R26.12.31| BE3E [wstrxres| 26 1.4 | 27 .1.1 at




e i tesiee | i | e | ook | ih | | e
AlO| 0|0 2|8 CERK H 27| 30 47 |R27 .12.31| BEFE |wmstrsres| 27 1.4 | 28 .1.1 ik
Al0|0]|0: 2| FEECER H 28|30 4 [R28.12.31| FEHE |w#sweves| 28 1.4 29 .1.1 a%
Al0[1]0:6|FIHmEER S 52|30 4 |R13.12.31| FEFE [T rEE 14 .1.1 K
AlO]|1]0: 6 |FIEmEER S 55|30 4 |R13.12.31| FEFE [T 14 .1.1 HE
Al0[1]0:6|FIHmEER S 56|30 4F|R13.12.31| FEFE |HoFrEE 14 .1.1 K
AlO]| 10 6|FIEmEER S 58|30 4 |R13.12.31| FEFE T 14 .1.1 HE
Al0|1]0:6 Wﬁa‘; Ef S 59|30 4 |R13.12.31| FEEE [ ForEE 14 .1.1 K
AlOf1]0:6|FIIHEE S 60|30 4 |R13.12.31| FEIEE |HiFCEE 14 .1.1 e
Alo| 1|0 6 mfﬁﬁé S 61|30 4 |R13.12.31| FEFE |HFCE# 14 .1.1 K
AlO| 1|0 6|FIHmER S 62|30 4 |R13.12.31| FEIFE |HiFrEE 14 .1.1 HE
AlO| 1|0 6|fFIHmER S 63|30 4 |R13.12.31| FEFE |HF R 14 .1.1 K
A0 1]|0: 6 |fFHmEER H 1 |304(|R13.12.31| FEFE |MiF e 14 .1.1 HE
AlO| 1[0 6|fFIHmER H 2 | 304 |R13.12.31| FEZE | FrE 14 .1.1 K
A0 1]|0: 6 |fBIHmEER H 3 | 304 |R13.12.31| FEFE |MiFrEE 14 .1.1 K
AlO[1]0: 6|FImER H 4 |30 4 |R13.12.31| FEIE |t Frs 14 .1.1 K
A0 1]0: 6 |FIHmERHR H 5 | 304 |R13.12.31| FEFE |MiFrEE 14 .1.1 K
AlO|1]0: 6|BIHmAER H 6 |30 4 [R13.12.31| BEHE | ForEE 14 .1.1 i
A0 1]0: 6 |BIHmER H 7 | 304 |R13.12.31| FEFE |MiFrEE 14 .1.1 K
AlO[1]0:6|FImEER H 8 |30 4F |R13.12.31| FEFE |t F s 14 .1.1 K
AlO0|1]0} 6 |FIIEEER H 9 |30 4 |RI13.12.31| FEIEE |MFrEE 14 .1.1 A
AlO|1]|0:6|fFIHEE %f;x H 10 | 30 4£ |R13.12.31| FEZE | FcE 14 .1.1 K
AlO|1]|0:6|fFIHwE H 11|30 4 |R13.12.31| 3 |MFCEE 14 .1.1 K
AlO|1]|0:6|fFIHE®E %f;x H 12| 30 4£|R13.12.31| FEZE | FcE 14 .1.1 K
AlO0|1]0: 6 |FIFEEER H 13|30 4 |R13.12.31| BEIE |#smerres 14 .1.1 HE
AlO]| 1|0 6|FIEEER H 14 | 30 45 [R14 .12.31| BEHE |wmstreves 15 .1.1 “at
AlO0|1]0} 6 |FIIEEER H 15|30 4 |R15.12.31| BEIE |#smerres 16 .1.1 HE
AlO|1]0: 6|BIHmAER H 16 | 30 4 |R16 .12.31| BEIE |istmrres 17 1.1 a9k




AlO[1]0:6|FIHmEER H 17 | 30 4F |R17 .12.31| FEFE |wmstrrres 18 .1.1 K
AlO]|1]0: 6 |FIEEER H 18 | 30 4F [R18.12.31| FEHE |w#irerves 19 .1.1 at
Al0[1]0:6|FIHmEER H 19 | 30 4£|R19.12.31| FEFE |wsstrrres 20 .1.1 K
AlO]|1]0: 6 |FIEmEER H 20| 30 4F[R20.12.31| FEIE |w#imrves 21 1.1 at
Al0[1]0:6|FIHmEER H 21 | 30 4F |R21.12.31| FEFE |wmstrrres 22 .1.1 K
AlO]| 10 6|FIEmEER H 22|30 4F[R22.12.31| FEHE |w#mrres 23 1.1 at
A0 1]0: 6 |BHEEER H 23|30 4 |R23.12.31| FEIE |wstrrres 24 .1.1 ik
AlO0|1]0: 6 |FIFEEER H 24 | 30 4 [R24 .12.31| BE3E [w#streres| 24 1.4 | 25 .1.1 e
AlO| 1|0 6|fFIHmER H 25|30 4 |R25.12.31| BEFE |wssteeres| 25 1.4 | 26 .1.1 K
A0 1]|0: 6 |fBIHEER H 26|30 4F|R26 .12.31| BEIE |wseres| 26 .1.4| 27 .1.1 “t
AlO| 1|0 6|fFIHmER H 27|30 4 |R27 .12.31| BEZFE |wssteeres| 27 14| 28 .1.1 K
Al0] 1[0 6|pImEER H 28|30 4 |R28.12.31| BEIE |messtrrrrs| 28 1.4 29 .1.1 “t
Alo| 1|0 6 mfﬁﬁé H 29|30 4 |R29.12.31| BEFE |sssteeres[ 29 1.4 30 .1.1 K
AlO| 1|0 7|fBIHEE H 26| 10 45| R6.12.31| BEIE [wsireres| 26 1.4 27 .1.1 HE
Alof1]0i7|HIE %f;x H 27| 10 4| R7.12.31| FE#E |wmsmeves| 27 1.4 28 .1.1 Ak
AlO| 1|0 7|%IHE H 28| 10 4| R8.12.31| BEIE |wissres[ 28 1.4 29 .1.1 K
Alof1|o|8|—fxim %f;x R 3| 5 %| R8.12.31 pEHE | wiixvr |R3 1.4 |R4 1.1 i
AlOf1|0|9|—fxmER R 4 | 34| R7.12.31| BE#E | wwxve |R4 1.4 |R5 .1.1 K
AlO]1]0]9|—fxmiER R 5| 3 #| R8.12.31 BEHE | wisxvr [R5 1.4 |R6 .1.1 K
AlO| 1| 1|0 —MmEk R 5| 14| R6.12.31| BEZE | wisxvr [R5 .1.4 |R6 .1.1 e
AlO| 1|15 |[mEnsEs% R 4| 54| R9.12.31| BEFHE |Ha7+1%| R4 1.4 |R5 1.1 ik
Alo| 1| 1|6 |@mmsss R 4 | 34| R7.12.31| FEs#E | whssve [R4 1.4 |R5 .1.1 e
AlO| 1|17 [BEnssEs R 5| 1#]| R6.12.31| pEZE | wixve [R5 1.4 |R6 .1.1 ik
Al0]2]0] 2| FHEBEIRR R 3| 3 #| R6.12.31| pEZE | whixvr |R3 1.4 |R4 1.1 ik
Al0]2]0] 2| FEHIE R 4| 3 4%| R7.12.31| BEZE | whxvr [ R4 1.4 |R5 .1.1 HE
Alo|2]0] 2 |FBEMEmAHR R 5 | 34| R8.12.31| ez | whssve [R5 1.4 |R6 .1.1 ik
Al0| 2|04 |55 HkBERER R 5| 14| R6.12.31| FE#E | whissve [R5 1.4 |R6 .1.1




AlO|2|0|6|XETZFAMVEHE R T4 ST .12.31 EEFTANE BT
Alo] 2] 1|24 505 E S R 3| 34| R6.12.31| & | wiixvxr | R3 1.4 |R4 .1.1 R
A0 2] 1|2 HBIAHRE R R 4| 34| R7.12.31| BEIFE | wiExve | R4 1.4 |R5 1.1 K
Alo] 2] 1|24 505 E S R 5| 34| R8.12.31| &3 | wsx+xt [R5 1.4 |R6 .1.1 R
AlO|2| 1|5 | EFEE-BERE R 1| 54| R6.12.31| BE#E [mtizenz| 31 1.4 |R2 .1.1 |ERwis
AlO|2| 1|5 |CERFERE -BEE R 2| 54| R7.12.31| BEIE |sti7ans| R2 1.4 |R3 .1.1 |Emwms
AlO| 2|15 |3 CERERE -BERE R 3| 54| R8.12.31| MBI |#H7+1%| R3 .1.4 |R4 .1.1 |Emvis
Alo| 2| 1|5 | CEEE-BERE R 4 | 54| R9.12.31| BE#E |#t7+r%| R4 1.4 |R5 .1.1 |mEmawis
AlO|2| 1|5 | ERFEE-BEE R 5 | 5 4|R10.12.31| PBE#E |[sti7ans|R5 1.4 |R6 .1.1 |Emawis
Al0]4]0]2|ERER R 5| I#]| R6.12.31| BEH | wisve [R5 1.4 [R6 .1.1 K
AlO|8|0] 1 |H=FEIZER R 5 | 1#]| R6.12.31| BEHE | wiisve [R5 .1.4 |R6 .1.1 ik
All| 2|0 1|3CGESZIRM4E R 3| 34F| R6.12.31| BEsE [ma—-=[ R3 .1.4| R4 .1.1 |ERmmsk
All|2|0 1|CESZRILE R 4 | 34| R7.12.31| s [wwr——=[ R4 1.4 | R5.1.1 |Emmms
Al 1|20 1 |3CE=RMH40 R 5| 34| R8.12.31| WE#HE |t@+—~-=| R4 .1.4| R5.1.1 |mEmawis
Al 1| 2]0]|2|fnEE exmoremicss | FEFE | g e
Al2]0]|0] 1| NS EEhmEER H 22| 30 4£|R22.12.31| BEZEE | wisre 23 .1.1 K
Al2]10]0] 1| NFEEh@EMER H 23| 30 4£[R23.12.31| FE#E | wexre 24 .1.1 K
Al2]0]|0] 1| NS EEhmEER H 24| 30 /+|R24 .12.31| BEFE | Wiyt | 24 1.4 25.1.1 K
Al 2[00 1| A= RihimmnE# H 25| 30 4£|R25.12.31| JEIE | whxvr | 25 1.4 26 .1.1 i
Al210]0]| 1| A S5 B s ER H 26| 30 /+|R26 .12.31| BEFE | Wiyt | 26 .1.4| 27 .1.1 iin
Al 210|011 | A= EE) e =% H 27| 30 4£|R27 .12.31| FEZE | wierr | 27 1.4 28 .1.1 e
Al210]0][ 1| A= B s ER H 28] 30 /+|R28.12.31| BEFE | Wiyt | 28 .1.4| 29 .1.1 iin
Al210]0]| 1| A= 5Bk Ef H 29| 30 4£|R29 .12.31| BE3E | wixre | 29 .1.4| 30 .1.1 iin
Al210]0]| 1| A S5 B s Ek H 30| 30 4+[R30.12.31| BEFE | wivt | 30 .1.4| 31.1.1 iin
Al 2[00 1| A= RihimmnE# R 1 |30 4|R31.12.31| BEZFE | whsx+vr | Rl .1.4 |R2 .1.1 e




Al2]10]|0] 1| NS EEhmmEER R 2 |30 #|R32.12.31| BEHE | whissve | R2 .1.4 |R3 .1.1 ik
Al210]0]| 1| A= 5 Bl E R 3 |30 4 |R33.12.31| BEFE | wisxre [ R3 .1.4 |R4 .1.1 IS
Al2]10]|0] 1| NS EEhmmEER R 4 |30 4 |R34.12.31| BEHE | whissve |[R4 1.4 |R5 .1.1 ik
Al210]0]| 1| A= 5 Bl E R 5 |30 4 |R35.12.31| B | wisxrt [R5 .1.4 |R6 .1.1 IS
Al210]0|2|nERERE H 22| 30 4£|R22.12.31| BEIE | wisrt | 22 1.4 23 .1.1 R
Al2l0]0|2|0ERTEHE H 23| 30 4*|R23.12.31| BEHE | whxve | 23 1.4 24 .1.1 iin
Al210]0|2|nERERE H 24| 30 4£|R24 .12.31| BEIE | wisre | 24 1.4 25 .1.1 iin
Al2|0|0]2|nEfaE#E H 25| 30 /+|R25.12.31| BEFE | wisvt | 256 1.4 26 .1.1 K
Al2]0]|0|2|mEtEERE H 26| 30 4£[R26.12.31| BEIHE | wisxvt | 26 .1.4| 27 .1.1 e
Al2|0|0]2|nEfaE#E H 27| 30 /#|R27 .12.31| BEFE | wsvr | 27 1.4 28 .1.1 K
Al2]0]|0|2|mEtEERE H 28| 30 £[R28.12.31| BEIHE | wisxvt | 28 1.4 29 .1.1 e
Al2|0|0]2|nEfaE#E H 29| 30 /+|R29.12.31| BEFE | W+t | 29 .1.4| 30.1.1 K
Al2]0|0|2|mEtEE#E H 30| 30 4£[R30.12.31| BEHE | wisx+t | 30 .1.4| 31.1.1 e
Al210]0|2|nERERE R 1 |30 %|R31.12.31| BEHE | wve |31 .14 [R2 .1.1 Fiin
Al210]0|2|nERTEHE R 2 |30 #|R32.12.31| BFE#E | wmixve |R2 1.4 [R3 .1.1 e
Al210]0|2|nERERE R 3 |30 ##|R33.12.31| BEHE | wisvt | R3 1.4 [R4 .1.1 Fiin
Al210]0|2|nERTEHE R 4 |30 #£|R34.12.31| BE#E | wiixve |R4 1.4 [R5 .1.1 e
Al210]0|2|nERERE R 5 |30 ##|R35.12.31| BEHE | wiisvt [R5 1.4 [R6 .1.1 Fiin
Al210]0]| 4| NFEETRRE R 5| 1#]| R6.12.31| BEZE | whxv [R5 1.4 |R6 .1.1 HE
Al2| 70| 1 |HFERERRE R 5 | L#]| R6.12.31| BEH | whxvt [R5 1.4 [R6 .1.1 i
A[2]9]0| 1 | BB BE AR R 5 | 14| R6.12.31| BE#E | wiixvt [R5 .1.4 [R6 .1.1 e
Al3]10]0]|2|BEEE%k% R 5| 1#]| R6.12.31| BE#E | wi*xve [R5 .1.4 |R6 .1.1 i
Al 3] 1| 0] 2 et (b 4e e e s R 5| 14| R6.12.31| Bz | wixve [R5 .1.4 |R6 .1.1 e
Al3|2|0]2|BEREI—R mesEREche | FERE | whEkve e
Al3|2|0] 3 |EEERK R 3| 34| R6.12.31| BEFE | whisxvr |R3 1.4 |R4 .1.1 K




Al3|2]|0] 3 |EEERK R 4| 3 #| R7.12.31| BEZE | wiixve |R4 1.4 |R5 1.1 K
Al3|2|0] 3 |EEBRK R 5| 34| R8.12.31| BEHE | wiixve [R5 1.4 [R6 .1.1 ik
Al5]0]0| 2| A EF I E H 24| 30 4|R24 .12.31| BEIHE | whxve | 24 1.4 25 .1.1 iis
A[5]0] 0|2 |AEKFIFEfEHE H 25| 30 4£|R25.12.31| BEZE | whiskvt | 25 1.4 26 .1.1 4t
Al5]0]0| 2| A EF I E H 26| 30 4£|R26 .12.31| FEFE | wisxvr | 26 .1.4| 27 .1.1 .
Al5]0]0]|3|ILSEF & H 26| 30 4£|R26.12.31| BFEIFE | wissrr | 26 1.4 | 27 .1.1 4t
Al5]0]0]|4|IE5RFALLETE H 26| 30 4£|R26 .12.31| FEIE | wierr | 26 1.4 | 27 .1.1 “t
Al5]|0] 0|6 |SkGEkiE H 26| 10 4| R6.12.31| BEZFE | wiive | 26 1.4 27 .1.1 e
Al5|[2]|0] 2 |GEL I ERAFTE H 26| 30 4-|R26.12.31| BEIHE | whxve | 26 .1.4| 27 .1.1 s
Al 5] 2|05 |FEHLH: A& H 26| 30 4£|R26.12.31| BFEIHE | wiserr | 26 1.4 | 27 .1.1 48
Al5[2]0]6 |HERRIHRSEETHE H 26| 10 45| R6.12.31| FEFE | wsre |26 14| 27 .1.1 “
A|5]2)| 0] 6 | HARMRFHMSEFHE H 27| 10 45| R7.12.31| BEE | wossre | 27 14| 28.1.1 | #&
A|5]2)|0]| 6| HARMRFHBSEFIE H 28| 10 4F| R8.12.31| BE3E | wusre | 28 14| 29.1.1 | #&
Al5[2]0]6 |[AERRFHERSEEHE H 29| 10 45| R9.12.31| FEFE | wsre |29 1.4 30 .1.1 a4t
Al5[2]0]6 |HERMMRIHRSEEHE H 30| 10 45| R10.12.31| BEFE | wigsre |30 .1.4| 31.1.1 4%
Al5]2]0] 6 [#ABIFREIEM S EE HE R 1 |10 4E|R11.12.31| BEHE | wiis+e |31 .14 [R2 .1.1 it
A|5]2)|0]| 6| HARMRFHBSEFIE R 2 |10 4|R12.12.31| FEHE | vomrve [R2 .14 |R3 .11 | 4K
Al5]2]0] 6 [#ABIFREIEM S EE HE R 3 |10 4£|R13.12.31| BEHE | s+t |R3 .14 [R4 .1.1 it
Al5]2]0] 6 [#RABIRFIEI S EEHE R 4 |10 4|R14.12.31| BEZE | wiis+t |R4 .1.4 [R5 1.1 4t
Al5]2) 06 [MAEMERFHBSEEHE R 5 |10 #4F|R15.12.31| FE3E | wisxve |R5 1.4 |R6 .1.1 st
Al5[2]1]3|ATFHHE EHE R H 26| 10 4%| R6.12.31| FEHE | wsre |26 14| 27 .1.1 4t
Al5| 2| 1|3 |ATF S EE PE H 27| 10 F| R7.12.31| BEZE | wve | 27 1.4 28 1.1 i
Al5| 2| 1|3 |ATF S FE PR H 28] 10 4£| R8.12.31| FEFE | wiert | 28 1.4 | 29 .1.1 iin
A5 | 2| 1|3|AiERSEE H 29[ 10 45| R9.12.31| &3 | wisx~r [ 29 1.4 30 .1.1 it
Al5| 2| 1|3 |mikHE S EE P H 30| 10 4£[R10.12.31| Fg3E | wissvt | 30 .1.4| 31.1.1 4t




Al5| 2| 1|3 |ATRH S EE P R 1 |10 #|R11.12.31| FEFE | wixve | 31 1.4 [R2 .1.1 FaiN
Al5| 2| 1| 3|RTRH RS EEHLE R 2 | 10 4£|R12.12.31| BEZE | wmrve |R2 1.4 |R3 .1.1 4t
Al5[2]1]3|ATFHHE AR R 3 |10 %|R13.12.31| BEFE | v |R3 .14 [R4 1.1 4t
Al5[2]1]3|ATFHRE T EHEE R 4 |10 4|R14.12.31| PBEZE | viseve |R4 .14 [R5 1.1 4t
Al5] 2] 1| 3|AiFRaEEE R 5 | 10 4£|R15.12.31| BEZE | wissve | RS .1.4 |R6 .1.1 .
Al5|2]1]5|H EIAERSEHEHE H 26| 10 45| R6.12.31| FEFE | wirsre |26 14| 27 .1.1 4t
Al5]2]1]5 |5 B ARSI H o 27| 10 | R7.12.31) g [ wmeve (27 4] 2800 |
Al5| 2] 1|5 |8 LIRA S = P H 28| 10 4| R8.12.31| FEZFE | whiskvt | 28 1.4 29 .1.1 it
Al5|2|1]5 |5 LA RaEE HE H 30| 10 4£|R10.12.31| BEHE | wix~t |30 .1.4| 31 .1.1 ik
Als[2]1]5 | LIRERSHEHE R 2| 10 4F|R12.12.31| BEFE | visxve |R2 .14 [R3 1.1 a4t




. e TR DI S R
X EZ7 740 E B E = (%) ey A Fn5HE
Al 1|0| 10 |HiEhdE (HTEEE) H 31| 54| R6.12.31| BEIE [msstesvee| 31 .1.4 | R2 .1.1 HE
Al 1[0 10 |HEE (T E%EE) R 2 | 54F| R7.12.31| BE#E |wsmeveel R2 1.4 | R3.1.1 S
Al 1|0|1]0|HiEhdE (HTEEE) R 3| 54| R8.12.31| BEZFE [wmstfsrrsl R3 .1.4| R4 .1.1 HE
A[1]0] 10 |H%EHGTEEE) R 4 | 54| R9.12.31| BEIFE |w#Hieresl R4 1.4 | R5.1.1 ik
A[1]0] 10 |HEHHE HTEEE) R 5 | 54 |R10.12.31| BEZFE [wmstfsreel R4 .1.4| R5.1.1 HE
Al 1| 0|12 [EIKRHOIEE (M TEEE) H 31| 54| R6.12.31| BEIFE |w#streves 31 1.4 32 .1.1 ik
Al 1[0 1 2 [[BKB ORERE (M FEEE) R 2| 54| R7.12.31| BEZE |wmimevesl R3 1.4 | R4 .1.1 e
Al1]0| 1 2Bk B OIEERE (M HFE%E) R 3| 54F| R8.12.31| BEZE |#migevesl R3 1.4 | R4 .1.1 A
Al 1|0| 12 [BKBOIRRERE (M HEEE) R 4| 54| R9.12.31| BEZFE [wmstfsreel R3 .1.4| R4 .1.1 HE
Al1]0]| 1 2K B OIEERE (% E) R 5 | 54| R10.12.31| BFE#E |wssmeveel R3S 1.4 | R4 .1.1 A
Al 1|01 3 [PRIRE (A EHE) H 31| 54| R6.12.31| BEZFE |w#strevesl 31 1.4 32 .1.1 e
Al 1[0 1 3 |[IRIRE (M 725 E) R 2 | 54| R7.12.31| BE3E |##sievesl R2 1.4 | R3.1.1 ik
Al 1|01 3 [PRIRE (A EHE) R 3| 54| R8.12.31| BEZE [wmtrxves| R3 .1.4 | R4 .1.1 it
Al 1[0 1 3 |[IRIRfE (M7 E%E) R 4 | 54| R9.12.31| BEFE |w#sievesl R4 1.4 | R5.1.1 ik
A[1]0]1:3 [IRM{E (I FE5E) R 5 | 54 |R10.12.31| BEZFE [wmsifsresl R4 .1.4 | R5.1.1 HE




X E 7 AL E B E fﬁ 7 ﬁ@ﬁ@% B FN54E
i (FR) AB 1 - Fi5

AlO| 1[0 1 [ARTE X BESER S 39( 30 4£|R13.12.31| JEHE |wT=i H 14.1.1| #&
A|lO[ 1|0 I [ATEXi\EEH S 40[ 30 4£|R13.12.31| JEHE |wrdm H 14 .1.1 S
AlO| 1[0 1 [ARTHE X BESER S 41| 30 4£|R13.12.31| JEHE |wT=i H 14.1.1| #&
AlO[ 1|0 1 [ATEXIBEER S 42| 30 4 |R13.12.31| PEHE |wTEm H 14.1.1 | #&
AlO| 1[0 1 [ARTHE X mESR S 43| 30 4£|R13.12.31| JEZE |wT=i H 14.1.1| #&
AlO[ 1|0 1 [ATEXIEEER S 44| 30 4 |R13.12.31| PEHE |wTEm H 14.1.1 | #&
AlO| 1[0 1 [ARTHE X mESR S 45| 30 4£|R13.12.31| JEHE |wTwi H 14.1.1| #&
AlO[ 1|0 I [ATEXiAEERH S 46| 30 4 |R13.12.31| PEHE |wTEm H 14.1.1 | #&
AlO| 1[0 1 [ARTHE X mESRR S 47| 30 4£|R13.12.31| JEHE |wTEiE H 14.1.1| #&
AlO[ 1|0 1 [ARTEXIEEER S 48| 30 4£|R13.12.31| PEHE |wTEm H 14.1.1 | #&
A0 1[0 1 [ARFE X% S 49| 30 4£|R13.12.31| JEHE |wTsEik H 14.1.1| #&
AlO[ 1|0 1 [ATEXEESER S 50| 30 4F|R13.12.31| PEHE |wTmm H 14.1.1 [ #&
A0 1[0 1 [ARFEXmEER S 51| 30 4£|R13.12.31| JEHE |wTEm H 14.1.1| #&
A0 1[0 1 [ATEXIAESEHK S 52|30 4 |R13.12.31| JRHEE |wrdm H 14 .1.1 it
A0 1[0 1 [ARTFE XmEER S 53| 30 4£|R13.12.31| JEHE |wTeEm H 14.1.1| #&
AlO[ 1|0 1 [ATEXIEESER S 54| 30 4£|R13.12.31| PEHE |wTmm H 14.1.1 [ #&
A0 1[0 1 [ARTFE XmEER S 55| 30 4 |R13.12.31| BEHE |wrEm H 14.1.1] #&
A0 1[0 1 [ATEXIAEEHK S 56|30 4 |R13.12.31| JE#E |[mrFem H 14 .1.1 R
A0 1[0 1 [ARTFE XmEER S 57| 30 4£|R13.12.31| BEHE |wrEm H 14.1.1] #&
A0 1[0 1 [ATEXIBEEHK S 58| 30 4 |R13.12.31| JE#E |mrFem H 14 .1.1 R
A0 1[0 1 [ARTFEXmE%ER S 59| 30 4£|R13.12.31| JEHE | H 14.1.1| #&
A0 1[0 1 [ATEXIAEEHK S 60[ 30 4 |R13.12.31| JE#E |mrFem H 14 .1.1 R




e e | i | e | o | PR g | emn |
AlO[ 1|0 I [AFTEXi\EEH S 61| 30 4£|R13.12.31| BRI |wram H 14 .1.1 S
AlO|1]07 1 [ARTEXBESER S 62| 30 4£|R13.12.31| JEHE |wTw=i H 14.1.1| #&
AlO[ 1|0 I [AFTEXi\EEH S 63| 30 4£|R13.12.31| JEHE |wrdm H 14 .1.1 S
AlO|1]07 1 [ARTHEXBESER H 1] 30 4£|R13.12.31| JBEHE |wr=i H 14.1.1| #&
AlO[ 1|0 I [AFTEXiAEEH H 2| 30 4£|R13.12.31| &I |[wram H 14 .1.1 S
AlO| 1[0 1 [ARTHE X BESER H 3| 30 4£|R13.12.31| JBEHE |wT=i H 14.1.1| #&
AlO[ 1|0 1 [ARTEXEEER H 4| 30 4£|R13.12.31| BEIEE |[wrem H 14 .1.1 T
AlO| 1[0 1 [ARTHE X mESER H 5| 30 4£|R13.12.31| JEHE |wrs=i H 14.1.1| #&
AlO[ 1|0 1 [ATEXEAEER H 6| 30 4£|R13.12.31| BEIEE |[wram H 14 .1.1 T
AlO| 1[0 1 [ARTHE X mESRR H 7] 30 4£|R13.12.31| JBEHE |wrs=im H 14.1.1| #&
AlO[ 1|0 1 [ATEXEEER H 8| 30 4£|R13.12.31| PEHE |wTEm H 14.1.1| #%
AlO| 1[0 1 [ARTHE X mESR H 9| 30 4£|R13.12.31| JEHE |wT=im H 14.1.1| #&
AlO[ 1|0 1 [ATEXIEESER H 10| 30 4 |R13.12.31| PEHE |wrTmm H 14.1.1 [ #&
A0 1[0 1 [ARTFE XmEER H 11| 30 4 |R13.12.31| BEFE |mumerve H 14.1.1| #%
A0 1[0 1 [ATEXIAESEHK H 12| 30 4£|R13.12.31| PEHE |msimrr H 14 .1.1 it
A0 1[0 1 [ARTFE XmEER H 13| 30 4F |R13.12.31| BEHE |[mummerve H 14.1.1| #%
AlO[ 1|0 1 [ATEXEESER H 14| 30 4 |R14 .12.31| JBE#E |mugere H 15.1.1 | #%
A0 1[0 1 [ARTFE XmEER H 19| 30 4F [R19 .12.31| BEHE |[mumgerre H 20.1.1| #%
A0 1[0 1 [ATEXIAEERK H 22| 30 4£|R22.12.31| BEZEE |[mumerr H 23.1.1 e
Al0|1]0: 6 |fFIREER S 52| 30 4£|R13.12.31| BEHE |wrEm H 14.1.1| #&
A0 1|0 6 |FIHEER S 53| 30 4£|R13.12.31| JEH#E |mrFem H 14 .1.1 R
Al0|1]|0 6 |fFIREER S 54| 30 4£|R13.12.31| FEHE |wrEm H 14.1.1| #&
A0 1|0 6|FIHEER S 55| 30 4 |R13.12.31| JEH#E |mrFem H 14 .1.1 R
Al0|1]|0:6|fFIREER S 56| 30 4 |R13.12.31| JBEHE | H 14.1.1] #&
A0 1|0 6B EER S 57| 30 4 |R13.12.31| JEH#E |mrFem H 14 .1.1 R




L > L B R P L I O i -
AlO| 1|0 6 |FIEEER S 58| 30 4 |R13.12.31| BEHEE |wFwm H 14 .1.1 R
Al0]|1]0 6 |fFIHEER S 60| 30 4£|R13.12.31| JEHE |wT=i H 14.1.1 | #&
AlO[ 1|0 6|FIHEEERH S 61| 30 4£|R13.12.31| JEHE |wram H 14 .1.1 S
Al0]|1]0:6 |fFIHEER S 62| 30 4£|R13.12.31| JEHE |wTw=i H 14.1.1 | #&
AlO|1|0: 6B @ %%}3% S 63| 30 4 |R13.12.31| BEHEE [T H 14 .1.1 R
Al0|1]0:6|fFIHEER H 1] 30 4£|R13.12.31| JBEHE |wTF=i H 14.1.1 | #&
AlO[1]0:6|FIEEER H 2| 30 4£|R13.12.31| PE#HE |wTam H 14.1.1 | #&
Al0|1]0: 6 |fFIREER H 3| 30 4£|R13.12.31| JEHE |wTsim H 14.1.1| #&
AlO[ 1|0 6|FIHmEERH H 4| 30 4£|R13.12.31| PE#HE |wTem H 14.1.1 | #&
Al0|1]0 6 |fFIHEER H 5| 30 4£|R13.12.31| JEHE |wTs=im H 14.1.1| #&
AlO[ 1|0 6|FIHmEERH H 6| 30 4£|R13.12.31| PE#HE |wTem H 14.1.1 | #&
Al0|1]0:6 |fFIHEER H 7| 30 4£|R13.12.31| JEZE |wTs=im H 14.1.1| #&
AlO[ 1|0 6|FIHmEERH H 8| 30 4£|R13.12.31| PEHE |wTEm H 14.1.1 [ #&
Al0|1]|0:6|fFIHEER H 9] 30 4£|R13.12.31| JEHE |wrsm H 14.1.1 | #&
AlO[1]|0 6 |FIHmEERH H 10| 30 4£|R13.12.31| PEHE |wrT®m H 14.1.1 [ #&
Al0|1]0: 6 |fFIHEER H 11| 30 4£|R13.12.31| JEHE |wrsm H 14.1.1 | #&
AlO[1]|0 6 |FIHmEERH H 12| 30 4£|R13.12.31| PEHE |wrTsm H 14.1.1 [ #&
AlO| 1|0 6 |FIEHEEER H 13| 30 45 |R13.12.31| P |mEtpre H 14.1.1 R
A0 1[0 6 |FIHEER H 14| 30 4 |R14 .12.31| BEHE |msimrr H 15.1.1 it
AlO[1]|0 6 |FIHEEER H 15| 30 4£|R15.12.31| JEHE |wuimerrr H 16 .1.1 i
A0 1|0 6|FIHEER H 16| 30 4£|R16 .12.31| PBEIE |mumrre H 17.1.1 e
AlO[ 1|0 6|FIHEER H 17| 30 4£|R17 .12.31| JEHE |wuimerrr H 18.1.1 i
A0 1[0 6 |FIHEER H 18] 30 4 |R18.12.31| PEIE |mutrrre H 19.1.1 e
AlO[1]|0 6|FIHEERH H 19| 30 4£|R19 .12.31| JEHE |muimervr H 20.1.1 i
A0 1|0 6 |FIHEER H 20| 30 4£|R20 .12.31| PEHE |muimerrr H 21.1.1 e
A0 1[0 6B EER H 21| 30 4£|R21 .12.31| PRI |msEtprre H 22.1.1 s




L > L B R P L I O i -
AlO| 1[0 6 |fBlFHEER H 22| 30 4£|R22 .12.31| BEFHE |mtesrrr H 23.1.1 S
AlO[1]|0 6 |fFIHEEER H 23| 30 4£|R23 .12.31| BEHE |msifervr H 24 .1.1 | #
A|0| 1[0 6 |FIHmEH H 24| 30 #£|R24 .12.31| BEHE [watrre [H 24 1.4|H 25.1.1 S
AlO[1]|0 6 |fFIHEEER H 25| 30 4F|R25.12.31| BEHE |mugxsr |H 25 .1.4|H 26.1.1 | #&
A0 1[0 6 |FIHmEH H 26| 30 4£|R26 .12.31| BEHE [watxrre [H 26 .1.4|H 27 .1.1 S
AlO[ 1|0 6 |fFIHEEER H 27| 30 4 |R27 .12.31| BEE |mugxsr |H 27 .1.4|H 28.1.1 | #&
AlO| 1[0 6 |fBlFHEER H 28| 30 #£|R28 .12.31| BEFE |wmutrr+re |H 28 .1.4|H 29 .1.1 e
AlO| 1[0 8| —fximERR R 1| 54| R6.12.31| FEEE |[mums+r |R 1 .1.4|R 2.1.1 s
AlO[1[0 8 |—fEER R 2| 54| R7.12.31| FEZE |wwgx+e |[R 2 .1.4|R  3.1.1 s
A|lO[1]|0 8| —#imiEs% R 3| 54| R8.12.31| FE3E |mugs+c |R 3 .1.4|R  4.1.1| #%
Al0[4]0: 1 |=iEBIfRk R 3[ 34| R6.12.31| FE#E |[mugere |[R 3 .14|R 4 .1.1 e
Al0]4]0: 1 |&mEEa%RHR R 4l 34| R7.12.31| EEEE |muagrer |[R 4 14|R 0 5.1.1 4T
Al0]|4]0 1 |=iEEfRkR R 5| 34| R8.12.31| Eg3EE |mugs+ |R 5 .1.4|R  6.1.1 | #%
Al0|5|0 1 |fBEEBTRAR R 3| 34| R6.12.31| FEFE |#muwgx+r |R 3 .1.4|R  4.1.1| #%
Al0|5|0 1 |[fBEEIRIFRAR R 4] 34| R7.12.31| FEIE |mugs+e |R 4 14|R  5.1.1 | #&
Al0|5|0 1 |fBEEIBILRAR R 5| 34| R8.12.31| FEZFE |#muwgx+ |R 5 .1.4|R  6.1.1 | #t
A| 0] 5] 0] 3| fHhrF IRk A R 5 34| Rr8.12.31] g [0 |R 5 14|R  6.11 BT
AlO| 7|0 1 [EEERAR R 5| 14| R6.12.31| BE#E [mumx+r [R 5 .1.4|R  6.1.1 R
AlO|8|0 1 |REEIERE R 5| 14| R6.12.31| BE#HE [mums+r [R 5 .1.4[R 6 .1.1 itk
A0 9|0 1 [EERINER S 45| 30 4£|R13.12.31| WEHE |wrsEm H 14.1.1| #&
AlO[9|0 1 [EEISER S 46| 30 45 |R13.12.31| BEIFE |wrdm H 14.1.1 K
A0 9]0 1 [EERINER S 47| 30 4£|R13.12.31| FEHE |wrEm H 14.1.1| #&
AlO[9|0 1 [EEISER S 48| 30 45 |R13.12.31| BEIFE |wrdm H 14.1.1 K
A0 9]0 1 [EERINER S 49| 30 4£|R13.12.31| JEHE |wrEm H 14.1.1] #&
Al0]|9]0 1 |EBSER S 50| 30 4£|R13.12.31| P& |wram H 14.1.1 | #&
Al0|9]0 1 |[EBISER S 51| 30 4£|R13.12.31| BEHE | H 14 .1.1 s




Al0]9]0 1 |[EBISER S 52|30 4£|R13.12.31| JEHE |wrdm H 14 .1.1 S
Al0]9]0 1 |[EEeGER S 53| 30 4£|R13.12.31| JEHE |wT=i H 14.1.1 | #&
AlO|9|0 1 [EESER S 54| 30 4 |R13.12.31| BEHEE [T H 14.1.1 AR
Al0]9]0: 1 [EEeGE R S 55| 30 4£|R13.12.31| JEHE |wT=ik H 14.1.1 | #&
AlO|9|0 1 [EESER S 56| 30 4 |R13.12.31| BEHEE |wFHE H 14 .1.1 R
Al0]9]0: 1 [EEeGE R S 57| 30 4£|R13.12.31| JEHE |wT=i H 14.1.1 | #&
AlO|9]0 1 [ S 58] 30 4 |R13.12.31| PEHE |wTEm H 14.1.1 | #&
Al0| 9|0 1 [EEEIER% S 59| 30 4£|R13.12.31| JEHE |wTei H 14.1.1| #&
Al0]|9]0 1 [EBeaZha S 60| 30 4£|R13.12.31| JREHEE |wram H 14 .1.1 L
Al0| 9|0 1 [EEEEIER% S 61| 30 4£|R13.12.31| JEHE |wTeim H 14.1.1| #&
Al0]|9]0 1 |[EBISER S 62| 30 4£|R13.12.31| JEHEE |wrdmE H 14 .1.1 L
AlO0| 9|0 1 [EEEEIER% S 63| 30 4£|R13.12.31| JEHE |wT=m H 14.1.1| #&
A0 9]0 1 |[EBICER H 1| 30 4£|R13.12.31| PE#HE |wTam H 14 .1.1 T
Al0]9]0: 1 [EEeGER H 2| 30 4£|R13.12.31| JEHE |wrsm H 14.1.1 | #&
A0 9]0 1 |[ERBICER H 4| 30 4£[R13.12.31| BEFE |wrem H 14.1.1 itk
Al0]9]0 1 |[EEeGER H 5| 30 4£|R13.12.31| JEHE |wrsm H 14.1.1 | #&
AlO|9]0 1 [EERIGER H 7| 30 4£|R13.12.31| PEHE |wrTsm H 14.1.1 [ #&
Al0[9]|0 I |[ERISER H 9| 30 4£|R13.12.31| PRHE |wuimerrr H 14 .1.1 i
AlO[9|0 1 [HESER H 10| 30 4£ [R13.12.31| BEIFE |mtprrr H 14.1.1 e
Al0]|9]0 1[BBG H 11| 30 4£|R13.12.31| JEHE |musigerre H 14 .1.1 i
AlO[9|0 1 [EEISER H 12| 30 45 [R13.12.31| BEFE |mutrerre H 14.1.1 AR
Al0|9]0 1[BBG H 13| 30 4£|R13.12.31| JEHE |muigerve H 14 .1.1 i
AlO[9|0 1 [EEISER H 14| 30 4 [R14 .12.31| BEFE |mutrrre H 15.1.1 AR
Al0[9]|0 I |[EBISER H 15| 30 4£|R15.12.31| JEHE |muigerre H 16 .1.1 i
AlO[9|0 1 [EEISER H 16| 30 4£|[R16 .12.31| BEIE |murerre H 17 .1.1 AR
Al0|9]0 1 |[EBISER H 17| 30 4£|R17 .12.31| BEZEE [matmern H 18 .1.1 s




A0 9]0 1B H 18] 30 4£|R18.12.31| BEZE |[mutrerr H 19.1.1 it
Al0[9]|0 I |[EREISER H 19| 30 4£|R19.12.31| BEHE |msiserr H 20.1.1 GAIS
AlO|9|0 1 [EESER H 20| 30 4£[R20 .12.31| BEHE |mitesrrr H 21.1.1 S
Al0[9]|0 I |[ERESER H 21| 30 4£|R21 .12.31| BEHE |msiserr H 22.1.1 GIS
A0 9]0 1 |[EBIER H 22| 30 4£|R22.12.31| BEIE |muEtrrre H 23 .1.1 4
Al0[9]|0 I |[EREISER H 23| 30 4£|R23 .12.31| BEHE |msiserrr H 24.1.1 GIS
Al0[9]|0 1 |[ERISER H 24| 30 4£|R24 .12.31| BEFE |[mumrre |H 24 1.4|H 25.1.1 s
Al0|9]0 1 |EBSER H 25| 30 4£|R25 .12.31| BE#E |[mumrre |[H 25 1.4|H 26.1.1 ik
Al0|9]0: 1 [R5 #% H 26| 30 4£|R26 .12.31| BEHE |msgrsr |H 26 .1.4|H 27 .1.1 | #&
Al0|9]0 1 |EBIER H 27| 30 4£|R27 .12.31| BE#E |[mumerre |H 27 1.4|H 28.1.1 ik
Al0]| 9]0 I [EEICE H 28] 30 4£|R28 .12.31| JEHE |mumtrseve [H 28 .1.4|H 29 .1.1 | #%
Al0|9]0 1 |EBISER H 29| 30 4£|R29 .12.31| BE#E |[mumrre |[H 29 .1.4|H 30.1.1 ik
Al0[9]|0 1 |[ERISER H 30| 30 4£|R30.12.31| BEH#E |[mumrre [H 30 .1.4|H 31.1.1 1S
Al0[9]|0 I |ERISER R 1| 30 4£|R31.12.31| FEF |wuwgs+e |[R 1 .1.4|R 2.1.1 ik
Al0|9[0; I [EEICE R R 2|30 4£|R32.12.31| BEFE |wmumrre |R 2 14|R 3 .1.1| %
Al0[9]|0 I |[ERISER R 3| 30 4£|R33.12.31| FEFE |wuwgs+e |R 3 .1.4|R 4.1.1 ik
Al0|9]0; I [EEICER R 4| 30 4£|R34 .12.31| FEFE |wmumrre |R 4 14|R  5.1.1 | #€
Al0[9]|0 I |[ERISER R 5|30 4£|R35.12.31| FEF |wuwgs+e |R 5 .1.4|R 6.1.1 ik
Al 5[ 240|555k (G8) F# H 26| 10 4| R6.12.31| Be#E |orsw  |H 26 .1.4|H 27.1.1 i3
Al5| 24|05 F-# H 27| 10 4| R7.12.31| BEFE [wrsw  [H 27 1.4|H 28.1.1 [ #&
Al5[ 240|555k (G8) F-# H 28| 10 4| R8.12.31| BEFE |wrdm H 28 .1.4|H 29.1.1 ik
Al5| 24|05 F-# H 29| 10 4| R9.12.31| BEFE [wr&w [H 29 .1.4|H 30.1.1 [ #&
Al5|2]4]0|EFFGE) FRE H 30| 10 4£|R10.12.31| s |pwrsw  |[H 30 .1.4|H 31.1.1 K
Al5|2]4|0|5FFGE) F-k R 1] 10 4F|R11.12.31| BE#E |wr#w  |R 1 .14([R A1 M
Al5]2]4]0|EFCGE) FR# R 2| 10 4£|R12.12.31| FEZHE |wreEw  |R 14 R J1 ) A&
Al 5[ 240|555k (8) FHf# R 3| 10 4|R13.12.31| FEZE |wr#m R 1.4|R 1.1 s




i e | i | e | o | PR g | emn |
Al5| 2|4 0|FFRFCGE) FIR R 4| 10 4£|R14 .12.31| FgZE |#wsgx+ |R 4 .1.4|R  5.1.1 s
Al5| 24 0|&dF () F1FH R 5| 10 #|R15.12.31| BgHE |suwrre |R 5 .1.4|R  6.1.1 | #&
Al2]8]0 5 [fEANIEHRIRHEEREIRER R 2| 54| R7.12.31| FEFE |mumerre R 3.1.1| #
Al 28|05 [fEANIFERORER KB R 4| 54| R9.12.31| FEE |wmumrre R 5.1.1| #&
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